a) Original state

Cache Tom = $200 Mike = $100

Nonvolatile Tom = $200  Mike = $100

Storage
9 Log:

¢) Commit appended to log

Cache Tom = $100 Mike = $200

Nonvolatile Tom = $200 Mike = $100

Storage

Log: Tom = $100 Mike = $200 COMMIT

b) Updates appended to log

Cache Tom = $100 Mike = $200

Nonvolatile Tom = $200  Mike = $100

Storage
91 [Log: Tom = $100 Mike = $200

d) Updates applied

Cache Tom = $100 Mike = $200

Nonvolatile Tom = $100 Mike = $200

Storage

Log: Tom = $100 Mike = $200 COMMIT

e) Garbage collect completed transactions from log

Cache Tom = $100 Mike = $200

Nonvolatile Tom = $100  Mike = $200
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